## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-62469-68875d7135a37

VERIFY.FTGS.US Date: July 28, 2025

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles UNION GMP INC. 2262 Larimer St **Destination Country Destination Port** Denver China HONGKONG CO 80205 **United States Export Date Exporting Carrier** 2025-03-10 Consignee TONGANTANG INTERNATIONAL (HONGKONG) GROUP CO., Import Permit Number Bill of Lading / AWB Hongkong, KLN, KWUN TONG, 72 HUNG TO ROAD, **EVERWIN CENTRE** Forwarding Agent Owner or Agent China

Buyer (Importer)

TONGANTANG INTERNATIONAL(HONGKONG)GROUP CO.,

EVERWIN CENTRE, 72 HUNG TO ROAD, KWUN TONG, KLN, HONG KONG

China

Remarks

CI NO.: 815218204 PL NO.: 815218204



13336kgs Net: 6668.28kgs 46987kgs Net: 18794.82kgs 839kgs Net: 419.594kgs	United States United States United States
46987kgs Net: 18794.82kgs 839kgs	
Net: 18794.82kgs 839kgs	
839kgs	United States
	United States
Net: 419.594kgs	
4933kgs	United States
Net: 3794.85kgs	
5054kgs	United States
Net: 3888kgs	
1349kgs	United States
Net: 676.08kgs	A A A A A A A A A A A A A A A A A A A
	Net: 3794.85kgs 5054kgs Net: 3888kgs 1349kgs Net: 676.08kgs



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

## LA-C00-62469-68875d7135a37/July 28, 2025

## **COMMERCIAL INVOICE**

Valid time

within 180 days

Exporter: UNION GMP INC.

Address:2262 Larimer St, Denver, CO 80202,USA

Consignee: TONGANTANG INTERNATIONAL (HONGKONG) GROUP CO., LIMITED

Address: ROOM A02, 15/F., EVERWIN CENTRE, 72 HUNG TO ROAD, KWUN TONG, KLN, HONG KONG

Buyer: TONGANTANG INTERNATIONAL(HONGKONG)GROUP CO., LIMITED

Address: ROOM A02, 15/F., EVERWIN CENTRE, 72 HUNG TO ROAD, KWUN TONG, KLN, HONG KONG

INVOICE NO: 815218204
INVOICE DATE: 10-March-2025

DESTINATION

OFUNLOADING:

Hong Kong

This contract is made by and between the Buyers and the Sellers, whereby the Buyers agree to buy and the Sellers agree to sell the under-mentioned goods subject to the terms and conditions as stipulated hereinafter:

NO	DESCRIPTION	EXW PRICE (USD/pcs)	QUANTITY (pcs)	TOTAL AMOUNT(USD)	
1	Perseek Super Joint Support Tablets(40)	1.35	111138	150036.30	
2	Perseek Fat Burner Pill Tablets(40)	1.25	626494	783117.50	
3	Perseek WATER AWAY SOFTGEL(60)	1.3	17310	22503.00	
SACEA CHAMOSO DE CAMPANO DE CAMPA	Perseek SLEEP AID GUMMIES(60)	1.2	23425	28110.00	
5	GUMMIES(60)	1.2	24000	28800.00	

6	Perseek LIPOSOMAL GABA Tablets(60)	1.25	9390	11737.50
Total( USD)		1024304.30		



packing list									
10/03/2025									
SELLER:	INVOICE NO: 815218204								
UNION GMP INC.									
CONSIGNEE:	Contract No:20250310002								
TONGANTANG INTERNATIONAL(HONGKONG)GROUP CO., LIMITED									
DESCRIPTION	QUANTITY	N.W.	G.W.	LOT	EXP				
Perseek Super Joint Support Tablets(40)	111138	6668.28	13336	#A 25A072	03/2028				
Perseek Fat Burner Pill Tablets(40)	626494	18794.82	46987	#A 24A578	05/2027				
Perseek WATER AWAY SOFTGEL(60)	17310	419.594	839	#A 25A039	01/2028				
Perseek SLEEP AID GUMMIES(60)	23425	3794.85	4933	#A 25A047	02/2027				
Perseek MULTIVITAMIN GUMMIES(60)	24000	3888	5054	#A 25A049	02/2027				
Perseek LIPOSOMAL GABA Tablets(60)	9390	676.08	1349	#A 25A051	02/2028				
TOTAL:	811757	34241.624	72498	/	/				

